

۲۰

-۱

الف) $\begin{vmatrix} 1 & 5 \\ 2 & -1 \end{vmatrix} \Rightarrow a = \frac{1 - (-2)}{2 - 0} = \frac{3}{2} = 1.5$

$y = -x + b \Rightarrow 1 = -1 + b \Rightarrow b = 2 \Rightarrow y = -x + 2$

ب) $2y + 4x = 1$

$2y + 4x = b$

$1 + 2 = b \Rightarrow b = 3$

$y = -2x + 1.5$

۵

ج) $3y = -x + 1$

$y = -\frac{1}{3}x + \frac{1}{3}$

$m' = 3$

$y = 3x + b$
 $1 = 12 + b$
 $b = -11$
 $\Rightarrow y = 3x - 11$

د) $a = \tan \alpha = \tan \frac{\pi}{4} = 1$

$y = x + b$

$1 = 1 + b$

$b = 0$

$y = x + 0$

الف) $\sqrt{(1 - (-1))^2 + (1 - 1)^2} = \sqrt{4 + 0} = 2$

ب) $\frac{|4 + 12 - 2|}{\sqrt{4 + 12}} = \frac{14}{4} = 3.5$

-۲

۵

$x + 4y = 1$

$2x + 4y = 2 \Rightarrow x + 2y = 1$

$x + 4y = 1.5$

$y = -\frac{1}{4}x + \frac{1}{4}$

-۳

الف) $x + 4y = 1$

$= \frac{1}{\sqrt{17}}$

ب) $\frac{|1|}{\sqrt{17}}$

$= \frac{1}{\sqrt{17}}$

$= \frac{1}{\sqrt{17}}$

$= \frac{1}{\sqrt{17}}$

۵

$2x + 3y = 2$

$3x - 2y = 1$

$|2x + 3y - 2|$

$|3x - 2y - 1|$

$\sqrt{13}$

$\sqrt{13}$

$2x + 3y = 2$

$dy = x + 2$

$2x + 3y = 2$

$y = -\frac{2}{3}x + \frac{2}{3}$

-۴

۵

$$y + \sqrt{u} = \sqrt{u} \rightarrow m = -\sqrt{u}$$

$$y - \sqrt{u} = \Delta \quad m' = \sqrt{u} \quad \tan \alpha = \left| \frac{m - m'}{1 + mm'} \right| \Rightarrow \tan \alpha = \frac{|-\Delta|}{|1 + (-1)|} = \frac{\Delta}{+0} \Rightarrow +1 \quad (5)$$

$$\tan \epsilon \delta \approx 1 \Rightarrow \alpha \approx \epsilon \delta \Rightarrow \beta \approx 1 \text{ rad} \Rightarrow \epsilon \delta \approx 1 \text{ rad}$$

الف) $\sqrt{(3 - (-5))^2 + (-2 - \epsilon)^2} = \sqrt{4\epsilon + 16} = \sqrt{16} = 4 \quad (10)$ -9

ب) $\begin{vmatrix} \frac{3-\Delta}{4} & -1 \\ -\frac{2+\epsilon}{4} & 1 \end{vmatrix} \rightarrow \begin{vmatrix} -1 \\ 1 \end{vmatrix}$ (5)

الف) $\begin{vmatrix} \frac{3-2-1}{4} & -\frac{9}{4} \\ \frac{1+2-1}{4} & -\frac{9}{4} \end{vmatrix} = \begin{vmatrix} -\frac{1}{4} & -\frac{9}{4} \\ \frac{2}{4} & -\frac{9}{4} \end{vmatrix} \rightarrow \begin{vmatrix} -1 & -9 \\ 2 & -9 \end{vmatrix}$ -V

ب) $\frac{1}{4} \begin{vmatrix} -1 & -2 & 3 \\ -1 & 2 & 1 \\ 1 & 1 & 1 \end{vmatrix} = \frac{1}{4} \times 94 = 23.5$ (5)

$\hookrightarrow \underbrace{(-3 - 2 - 3 \times 1)}_{-11} - \underbrace{(9 - 1 + 2 \times 1)}_{10} = -21$ 94

الف) $y = \frac{2u+1}{\epsilon u-3} \xrightarrow{\text{نسبة}} -y = \frac{2u+1}{\epsilon u-3}$ -A

ب) $y = \frac{2u+1}{\epsilon u-3} \xrightarrow{\text{نسبة}} y = \frac{2u+1}{-\epsilon u-3}$

ج) $u = \frac{2y+1}{\epsilon y-3}$ (5)

$= \epsilon u y - 3u = 2y+1 \quad y(\epsilon u-3) = 2y+1 \Rightarrow y = \frac{2u+1}{\epsilon u-3}$

$\Rightarrow -u = \frac{-2y+1}{-\epsilon y-3} \Rightarrow \epsilon y u + 3u = -2y+1 \Rightarrow y(\epsilon u+3) = -2u+1 \Rightarrow y = \frac{-2u+1}{\epsilon u+3}$

الف) $u' = u-2 \Rightarrow u = u' + 2$
 $y' = y+3 \Rightarrow y = y' - 3$

$y = \frac{2u+1}{u-2} \Rightarrow y' - 3 = \frac{2u'+1}{u'-2}$

$y' = \frac{2u'+1}{u'-1} + 3 \Rightarrow y' = \frac{2u'+4}{u'-1}$ (5)

ب) $u' = u - 2 \Rightarrow u = u' + 2$
 $y' = y - 2 \Rightarrow y = y' + 2$

$y' + 2 = \frac{2u' + 4 + 1}{u' + 2} \Rightarrow y' = \frac{2u' + 4}{u'} - 2$
 $\Rightarrow y' = \frac{2u' + 4 - 2u'}{u'} = \frac{4}{u'} \Rightarrow y' = \frac{4}{u'}$

الف) $\begin{cases} 3u + 4y = 2 \\ u - 5y = 1 \end{cases}$

-10

$u - 5y = 1 \Rightarrow 3u - 15y = 3 \Rightarrow 3u = 3 + 15y \Rightarrow u = 1 + 5y$
 $14y = -1 \Rightarrow y = -\frac{1}{14}$

$u = \frac{2 + 10}{14} \Rightarrow u = \frac{12}{14}$

5

ب) $u = \frac{2 + 10}{-14 - 2} = \frac{12}{-14}$

$y = \frac{u - 1}{-14} = -\frac{1}{14}$